

$$(1) (a) C_0 = \frac{1}{2\pi} \int_{-\pi/4}^{\pi/4} 1 dt = \frac{1}{2\pi} \cdot \frac{\pi}{2} = \frac{1}{4}$$

$$n \neq 0 \quad C_n = \frac{1}{2\pi} \int_{-\pi/4}^{\pi/4} e^{-int} dt = \frac{1}{2\pi} \frac{e^{-int}}{-in} \Big|_{-\pi/4}^{\pi/4}$$

$$= \frac{-1}{2\pi in} \left[ e^{-in\pi/4} - e^{in\pi/4} \right]$$

$$= \frac{-1}{2\pi in} \left[ \cos n\pi/4 - i \sin n\pi/4 - [\cos n\pi/4 + i \sin n\pi/4] \right]$$

$$= + \frac{1}{2\pi in} \cdot 2i \sin n\pi/4 = \frac{1}{\pi n} \sin \frac{n\pi}{4}$$

$$\chi_{\pi/4}(t) \sim \frac{1}{4} + \sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \frac{1}{\pi n} \sin \frac{n\pi}{4} e^{int}$$

$$(b) \chi_{\pi/4}(t) = \frac{\sqrt{2\pi}}{4} \cdot \left( \frac{1}{\sqrt{2\pi}} \right) + \sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \frac{\sqrt{2\pi}}{\pi n} \sin \frac{n\pi}{4} \left( \frac{e^{int}}{\sqrt{2\pi}} \right)$$

$$(2a) C_0 = \frac{1}{2\pi} \int_{-\pi}^{\pi} t \, dt = \frac{1}{2\pi} \frac{t^2}{2} \Big|_{-\pi}^{\pi} = 0$$

#43  
pg 2

$$n \neq 0 \quad C_n = \frac{1}{2\pi} \int_{-\pi}^{\pi} t e^{-int} \, dt = \left[ \frac{t e^{-int}}{-in} \Big|_{-\pi}^{\pi} + \int_{-\pi}^{\pi} \frac{e^{-int}}{in} \, dt \right] \frac{1}{2\pi}$$

$$\boxed{\begin{aligned} u &= t \quad dv = e^{-int} \, dt \\ du &= dt \quad v = \frac{e^{-int}}{-in} \end{aligned}}$$

$$\begin{aligned} &= \left[ \frac{\pi e^{-in\pi}}{-in} + \frac{-\pi e^{in\pi}}{in} + \frac{e^{-int}}{n^2} \Big|_{-\pi}^{\pi} \right] \frac{1}{2\pi} \\ &= \left[ -\frac{\pi}{in} \left[ e^{-in\pi} + e^{in\pi} \right] + \frac{1}{n^2} \left[ e^{-in\pi} - e^{in\pi} \right] \right] \frac{1}{2\pi} \\ &= \left[ -\frac{\pi}{in} \left[ 2 \cos n\pi \right] - \frac{1}{n^2} (-\sin n\pi) \right] \frac{1}{2\pi} \\ &= \pi \frac{1}{n} 2(-1)^n \cdot \frac{1}{2\pi} = \frac{1}{n} (-1)^n \end{aligned}$$

$$f(t) \sim \sum_{n=1}^{\infty} \frac{1}{n} (-1)^n e^{int}$$

$$(b) f(t) \sim \sum_{n=1}^{\infty} \left( \frac{1}{n} (-1)^n \right) \sqrt{2\pi} \frac{e^{int}}{\sqrt{2\pi}}$$